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3,000,000 3,000
—MREEE S #¢ 1,000, 000& 1,000
o=2d+g 840
— Ao RG FAHLY 840,000& 840
206 M EH| 50,000 0 50,000
01 X Z H| 50,000 0 50,000
OFYE X & 6280l AFY M Z 4]
50,000, 000& 50,000
HESAAY (B HEZAIA) 49,724 47,824 1,900
Jl2BL(BHMEZAlA) 49,724 47,824 1,900
Jl2dd (ZBH T AlA) 49,724 47,824 1,900
201 et 26,224 26,224 0
01 AP 22| H| 26,224 26,224 0
OgtL2Y| 8,800,000& 8,800
O3&H| 6,000 * 229 « 11 * 12& 17,424
202 04d| 13,200 13,200 0
01 2Ll 13,200 13,200 0
OJI2gasa 50,0003 * 229 x 12& 13,200
203 & R =&t 4,200 4,200 0
04 FEASHEYIFFEH| 4,200 4,200 0
ORMNSIGELEF=8H| 350,000& » 12€ 4,200
204 &R A H| 4,200 4,200 0
01 MEZHRLESHAH| 4,200 4,200 0




A 3F

X ZH - oH
S =

M= Al A
23U (BRNEAIA)

SRl J2FU(FHT A4 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
ONMIARHAHY| 350,000& = 12& 4,200
405 XtabF SHI 1,900 0 1,900
01 AL 2B F SHI 1,900 0 1,900
OFAD ¢ 400,000& * 1CH 400
ogyy & ¢ 1,500,000& = 1CH 1,500
HEES(FHEZAA) 1,000,000 100,000 900,000
HEHH XS (B M AlA) 1,000,000 100,000 900,000
LHEHH XIS (B M= AlA) 1,000,000 100,000 900,000
701 JIEIS HE E2 1,000,000 0 1,000,000
01 JIEtSI HE &= 1,000,000 0 1,000,000
Os3N2EHEAMBEEIAHN HEZ
1,000,000, 000& 1,000,000




